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O o00ooooOo:/i0odono,00oddn import
java.lo.*. import java.lang.*. import java.net.*. public class uclient {
private DatagramSocket cli. private DatagramPacket pac. private
byte sb[]. private String sen. public uclient() { Init(). } public void
InitQ {try{/ 000000000000 0O0O0O00O00O0O
cli=new DatagramSocket(10002). sb=new byte[1024]. sen="UDP[]
0 0O 00O 0" sh=sen.getBytes(). pac=new
DatagramPacket(sb,sb.length,InetAddress.getByName("localhost"),
10005). cli.send(pac). } catch(SocketException se) {
se.printStackTrace(). } catch(IOException ie) { ie.printStackTrace().
} } public static void main(String args[]) { new uclient(). } } O U I
OO:/000000,00000000 import java.io.*.
Import java.lang.*. import java.net.*. public class userve { private
DatagramSocket ser. private DatagramPacket pac. private byte rb[].
private String rev. public userve() { Init(). } public void Init() { try {
ser=new DatagramSocket(10005). rb=new byte[1024]. pac=new
DatagramPacket(rb,rb.length). rev="". int i=0. while(i==0)//00 O [
O OO 0O {ser.receive(pac). i=pac.getLength(). /00 O O O if(i>0)
{(/0000000000,000000o0b0oo,000o



OO000000 rev=new String(rb,0,pac.getLength()).
System.out.printin(rev). i=0.//00 TJ OO OJ } } } catch(Exception e) {
e.printStackTrace(). } } public static void main(String args[]) { new
userve().}}100Test 1 D U0 DO OO OOOOOOOOOOO
00000 www.100test.com



